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6.1-6.4 Review " Name

Remember to study your quiz, homeworks, and notes! All formulas will be provided on the test.
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For #1-2, m£C =90°. Solve each triangle. Round angle measures to the nearest degree

and sides to the nearest tenth. grrm
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For # 3-6, find the missing information. Round angles to the nearest degree and sides to
the nearest tenth.
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7.In aX¥YZ , mZX =13", ¥=12 ,and y=5. Find 2.
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11. In a4BC, m«B = 34°, m«£C = 71°, and a = 115. What is the measure of side b?
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For #12-13, find the area of each triangle. Round to the nearest whole number.
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14. The diagonals of a parallelogram are 86 cm and 62 cm. The shorter side is 16 cm. Find the
ac%e angle formed by the two diagonals. {nearest tenth}
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- 15, Looking out her apartment window, Suzie notices a lost dog sitting on the sidewalk. If the angle
of depression from the window to the dog is 46° and Suzie's window is 24 feet above the sidewalk,

how far is Suzie from the dog? R\O] nt A SorCAt TDA‘
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16. Ramdrops are falllng vertically at a speed of 100 km per hour through air that is movmg
horizontally at a speed of 42 km per hour.

a) At what angle do the drops hit the ground? )
ton = 2% a=+an(
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b) How fast are the drops actually falling?
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17. A surveyor marks points A and B 200 meters apart on one bank of a river. She sights a point C
on the opposite bank and determines <A = 67° and <B = 32°. What is the distance from A to C?
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18. Two airplanes leave an airport, and the angle between their flight paths is 40°. An hour later, one
plane has traveled 300 miles while the other has traveled 200 miles. How far apart are the planes at

this time? PLANE | é we\n%
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19. A flagpole 10 feet tall stands on top of a school. From a point in front of the building, the angle
of elevation to the top of the pole is 75°, and the angle of elevation to the bottom of the pole is 68°,
How high is thée building? Round your answer to the nearest tenth of a foot.
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